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8/25| AME 2 N N [CJEEY o o 394 39,000

8/26 | ME 2 N N [KTaGal & =0l o o 60 60,000

I N N Jkeearat=olf s | S8 [8/2tA 21,000

9/8 | AIS 2 N N [CJEEY o o 394 39,000

9/22 | ME 2 N N [CJEEY o o 394 39,000

10/13] AIS 2 N N [CJEEY o o 394 39,000

10/27] AS 2 N N [CJEEY o o 394 39,000

11/10] AS 2 N N [CJEEY o o 394 39,000

1H/12) AS 2 N N |=ASIAEHE ] WE | REH | 40 70,000

1H/12) AS 2 N N [FASIAEHE [MEEA WHEE | 18 54,000 ds

11/24] A S 2 N N [CJECEY o o 394 39,000

12/8] MS 2 N N [CJECEY o o 394 39,000

12/22] AS 2 N N [CJECEY o o 394 39,000

12/22] AMS 4 N N (MEAS=E] &2 gz S0t 250,000
T ASHMAM

A2 gL o Soy gaee HE7|E

2R} FE04%

2.3 |2d=01XEa EENE &3 252,000 2efs0| ME

2.9 Ml E=5 A AHSET) 595,000 AALET 2ME

2.9 |gebl 369,710 EAJIA 2F

2.10 | eI 130,290 TATIA 2F

2.16 |2 KX 2=+ 19,000 =M

217 |[&elB A=+ 375,000 HALET

217 |9 XSS 2 Zely 267,430 CIX|StEX| 2 2| ZE2E

2.17 [K-WAIS-IV 1,284,000 AAET SF5 7 SHE

2.27 |AUBINBSSH JIZuS 1,205,000 wE e 2H

3.2 |2 XX W] 9,800 QIX| x| 2 14|

3.26 |2H=01XE A5 833,080 2esol wg B AE/AZT

3.31 |Z2cH=0IXZSA EEME A3 179,500 2 =0|A 2 EMEY &F

4.1 |9 XNXE M= 59,500 IX|X| 2 M=

4.2 |12XNXE 27%F 28,500 XX E 277

4.2 |20 ENE A3 9,000 =0l ASA SME A3

4.9 |2 XNXNE22F 3,000 AXNXNEE2AF

4.9 [2tABI 5,500 QIXIXIE AlAl

410 |2 XX W8] 81,000 QIX| X2 w7

413 |2l =0IXSA SHE A3 12,000 QIX|X| =2 2 s0lA ME

414 |22 1,677,300 XX 2 ME X w72

4.20 [0l01=2d & X 929,500 AtEA 2% ofo]A MR

5.6 [2tAlHl 3,500 QIX|X| 2 AA|

56 |Z2H=0IXSd ENE A3 6,800 QIX|X| =2 2 s0lA ME

58 |2H=0IXIZA ENE A3 1,299,400 XX = 2 =0l ME

511 [9XX = w7 H| 22,000 CIXIXE w7 Y 2+

6.12 |SSXESEZ2 ] NE 2,347,400 QIX|X| 2 w7 72 13ME

RAEEEEE 600,500 NEEEEE

714 |[&ClZ A S 780,500 AE|HAL o

7.24 |2EEANY 1,214,810 HE|IXE QX X7 W4

7.24 |2H=01X=H ZNMELS 990,000 QXX = 2 =0l ME

724 | XS EXEY L ES 590,500 QIXIXE EF

8.19 |IXIXIE B27F 12,000 QXX 2 M=

9.2 [2XXlg 247 8,000 IXIXE M=

9.4 |2XNXEH BEF1F 66,648 QXX 2 M=

9.11 |24yl 1,032,500 22 S0|x| Z AL 247

9.15 |K-WISC-IV It2E 1004 2,710,000 HAHX| 574

9.15 |2cH=0IXZSA EME &3 952,000 IX|X| 2 R 50l &~ F

9.16 |2 XX E w8 588,804 QIX|X| 2 W+

9.23 |2XIXE EXF 24,000 QIX[X| 2 =




40 oIXXE 2% CIX[X| & W+

41 2HAlH| QIX|X| 2 AMA| ZHAIH| 01 Q]

42 QINXIZ2 2 MRINE NE T

43 A2l A2 H|

44 OIXIXIZ WPH| QIX|X| & W7

45 oXstsXga ALlA CIX|X =2 W

46 IXXgEe+ ¢ CIX|X|BRETF Bt

47 IPNPNE=Ee CIX|X| BT &t

48 AtE bl Az H|

49 PAR==ds]l A2 H|

50 AtE bl Az H|

51 OIXIXIZE wFH| QIX|X| =2 W

52 LHSO0IXNZENE QIX|X|ZE 20| Al

53 QXX S2HE M2INEBEMH EMTY

54 OIXIXIZE whI CIX|X| 2 W+ 2A

55 OIXIXIZ wH| QIX|X| =2 W
4. AL B AIA

_ 240 5 2|

2 ALY o A2 ;%aé /e

1 2tAl 2 HE = Oots 1/8tA ,000

2 2hal 2 B =2 Oot= 394 ,000

3 B 2 Oots 3/8tA ,000

4 2hal 2 B =2 Oot= 394 ,000

5 2hAl 2 B2 Oots 394 ,000

6 2hal S B =2 Oot= 394 ,000

7 2hAl 2 B2 Oots 604 ,000

8 Al 2 HE =2 Oot= 3/ A ,000

9 2hAl L Hi 2 Oot= 394 ,000

10 2hAl S B =2 Oots 394 ,000

11 2hAl L Hi 2 Oot= 394 ,000

12 2hAl S B =2 Oots 394 ,000

13 2hAl 2 Hi 2 Oot= 394 ,000

14 =4 & = Oots 404 ,000

15 =4 Y 2 Oot= 1804 ,000

16 2HAl S B =2 Oots 394 ,000

17 2hAl 2 Hi 2 Oot= 394 ,000

18 2HAl S B =2 Oots 394 ,000

19 Ots =4, 2tAl L U2 | ots,J12, 50&t ,000
5. &= H &

s)l& 52 HE HEHFE

& Bt SA-22) 140010526437 A& XS 0ts = A AH
ofL (S21) 36391000405005 A X H0ts = A AEH
ot (S22) 36391000486004 A& XS 0ts = A AH
ofL (S23) 36391000485304 A X H0ts = A AEH
otLE43504(Z &) 36391000243504 A& XS 0ts = A AH




